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This bulletin presents data for renting Michigan
farmland. Data were gathered by mail question-
naire during April-May 1982. The 269 usable re-
sponses are distributed throughout the 9 geograph-
ic districts as indicated in Table 1.

Renting land by the year or leasing for more than
1 year may be an economical alternative to owner-
ship. The No. 1 advantage is that user rights do not
require the high capital requirements and fixed
costs of ownership.Renting provides more flexibil-
ity relative to-farm size and enterprise mix, includ-
ing livestock options.

The tradeoff is that the tenant lacks security of
control, may not reap all the rewards of his
management and won’t benefit from an increase in
land values.

Agreements and rental rates vary by area and
crop, depending upon amount of land for rent;
profit projections considering yields, crop prices
and other purchased input costs; the potential
number of renters ‘bidding’ for land; and historical
rental agreements.

Rental arrangements differ on distribution of in-
come, expenses and risk. Cash rental or lease im-
plies a fixed cash payment to the owner. The ten-
ant assumes all risks associated with price and
yield variability. The tenant also secures rights to
use of land and the profits (losses) associated with
its operation. The landowner is guaranteed a fixed
income and avoids the management decisions and
risk associated with production and marketing of
crops.

With a share rental agreement, the income, ex-
penses and risk are shared by both tenant and land
owner. There is no one best share arrangement. A
basic principle is to divide income in the same
proportion as production expenses are shared.

The following rental rates are not presented as
recommended rates for renting Michigan farmland,
but are intended to guide renters and owners in
negotiating field rental arrangements.

The responses indicate that cash rental of land is
more prominent than share rental. All land used for
pasture and most mechanically harvested forages
were cash rented. Approximately 70% of corn and
bean land was rented on a cash basis.
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Rates are not available for crops in some areas
because they are not commonly grown in the area,
or there was an insufficient number of responses to
establish rates.

CASH RENTAL RATES

Tables 1 and 2 contain the average rate, the
range of rates, and estimated crop yields for cash
rental arrangements on tiled and untiled land in
Michigan by crop reporting districts. A comparison
of Tables 1 and 2 indicates that tiled land generally
provides higher yields and commands a higher
rental rate than untiled land.

SHARED RENTAL RATES

Tables 3 and 4 present the share rental arrange-
ments on tiled and untiled land in Michigan by
crop reporting districts. The average yield of each
crop, the share of the tenant’s expenses, and the
number of farmers reporting each specific share
rental arrangement is listed for each crop. The
most common share rental arrangements appear to
be the 50-50 and the 67-33 tenant-landlord divi-
sion. However, an increasing number of 75-25 ten-
ant-landlord share arrangements was noted relative
to previous years.

50-50 SHARE BASIS

With this lease, the crop is divided in half be-
tween the renter and landlord. The tenant fur-
nishes labor, power and machinery. The cost of
seed, fertilizer, weed and insect control is usually
split equally. The harvesting cost may or may not
be halved. Sometimes the tenant furnishes 100% of
the hauling while the actual harvesting cost is split
equally.

% - % SHARE BASIS

With this lease, 67% of the crop is received by
the tenant. The tenant, in turn, usually furnishes
all labor, power, machinery, weed and insect con-
trol, harvesting and hauling. The fertilizer expense
is sometimes shared in the same proportion as is
the crop yield. The seed cost may be shared in this
proportion also but usually the tenant furnishes all
seed.
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